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A manufacturer wants to design an

I open box having a square base and a
" ! surface area of 108 square inches.
. | What dimensions will produce a box
kB -x/l ith maximum volume?
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Open box with square base:
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Which points of the graph of y=4-x* are

closest to the point@
d: \ (X-0Y+ (5—2)j Ninimi 2e—

The quantity to be minimized is distance:
d=Ju =07+ (3 - 2.
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] Two posts, one 12 feet high and the other 28
feet high, stand 30 feet apart. They are to
be stayed by two wires, attached to a single
stake, running from the ground level to the
é& % topof each post. Where should the stake be
P AR At :9 placed to use the least amount of wire?

[ 30-x ' >
The quanl:ly to be minimized is length, \/\/ 5 2

From the dnagram you can see that x varies
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Find two positive numbers such that the Isum of the first and twice the second is IOO‘and
[thelr product 1s a max1mumJ
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